THE GATE

Test ID: ME-TS-04-18 ME

All India Mock GATE Test Series
Test series 4
Mechanical Engineering

Answer Keys and Explanations

General Aptitude:

[Ans. A]
Meaning: slow to move or act
Part of Speech: Adjective

[Ans. *] Range: 9to 9

Clearly 5x 2 =10,10 x 2 = 20,20 X 2 = 40, ...

So, the series is a G.P. in whicha; =5andr=2

To find the n™" term of a Geometric progression, the formula is a, = a;r™*!
Let 1280 be the n™ term of the series

Then, 5x 21 =1280 21 =256=22on—-1=8©n=9

[Ans. A]
For this type of question take the LCM of speeds and assume the LCM as the distance

300
Then the time taken at speed of 60 km/hr = 0 - 5 hrs

00
Again the time taken at speed of 50 km/hr = 0 - 6 hrs

Thus we see that in place of 5 hrs trains take 6 hrs. Its means train takes 1 hr extra and
this one hour is stopping period in the total time of 6 hrs. Thus in 6 hrs train halts for 1 hr.

so in 1 hr train will stop for 1/6 hours or 10 minutes.

[Ans. *] Range: 10 to 10
Let assume, Radha is at Point ‘A’

4 km E A

— hd

7 km
7 km

1ka
Required distance = AE = AD — DE
Since ABCD is a parallelogram
AD=BC
~ AE = BC — DE
=14-4=10
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5. [Ans. A]
Dancers .
Singers
Actors
(Or) @Dancem
Singers Actors

Only (1) Follows
6. [Ans. *] Range: 6 to 6

Given:

R—>x+10]X ]X+5]@+

Lox+6 |X x+5 D*

B-ox+5 |[x+ x+5 _)

H-ox+4 (X x+5 @

A-x JX Jx + SJ ©F

Thus total 6 coins have to be transferred.
7. [Ans. B]

The numbers are given in pair of 4 and 9.
The unit digit of each pair is 4, and there are 50 such pairs which are mutually multiplied
together.
Unit digit 4 x 9% x 43 x 9* x 45 x 96 x ..., 4% x 9100
4 4 4 4
Again4 X 4 X 4 X 4 ...4(upto 50 times)
i.e., the unit digit of 4°°, which is 6
[Since unit digit of 42" is 6 forn =1, 2, 3, ...etc]
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[Ans. B]
16.66 /18 75
17.5
(Boys) (Girls)
50 9 4 75 9 3
3 4 4 3
\ / ...... (Making Denominator equal)
= 35 6
_— X —_
/2 6
B \ G
200/12 225/12
= 210/12
15/12 10/12
= 3 : 2

~ Boys = 3x; Girls = 2x

Given 3x —2x =8

“X=8

Thus the number of Girls = 16 and number of Boys = 24

[Ans. D]

Let there be x voters and k votes goes to loser then
0.8x — 120 = k + (k + 200) .......(D
Also,k + 200 = 0.41x )
From equation (1) and (2)

0.8x — 120 = 0.41x — 200 + 0.41x
0.02x = 80

x = 4000

~k=0.41x4000— 200

= k = 1440

And (k+ 200) = 1640

Number of voters voted = x —0.2x
0.8x= 0.8 X 4000 = 3200

0
X = 459
3200 100 = 45%

Therefore, percentage of votes for defeated candidates =
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10.

[Ans. *] Range: 40 to 40

Given

W, =15W; .......(50% Increase in walk)

D, =D,

My xD; M; XDy

W W,

~ M, =15M,

-~ If the efficiency of M; and M, is same, then 50% more work force is required.

But it is given the productivity of new labour is 25% more (i.e., 5/4 times efficient)
50%

5/4

=40%

-~ Actual % increase in work force required =
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Technical:

[Ans. B]

Foran X n matrix [A] withA;,4;,23 .....An_1), Ay, as the Eigen Values
det(A) = (A X A3 X .. dno) X Ay)

Since one of the Eigen values is zero

det(A) =0

[Ans. D]
ye™=y2+1
dy dx
e
e—T[/X
tan~!(y) =

+c
—T

_e—T[X
=y = tan + c)
y = an (=

[Ans. *] Range: 0.72 to 0.74
Average number of defective items is given by 10(0.1) = 0.1
= A = 1 (Mean of Poisson distribution)
Required probability is given by
e M0 et

P(x<1)=plx=0)+pkx=1) = ——+—
=e et
=2e7 A = 2e7t
= 0.7358

[Ans. A]

f(z) f7(z0)
— " dz = 2i

@ =2 dz m—
__.8lcosh(0)
=2m——
27
= T‘l’[l

[Ans. D]

All entire functions are analytic everywhere

(A) z*is an entire function

(B) e2* (cos2y + isin2y) = e2* . el2y = g2(x+iy) — o2z
e?? is an entire function

(C) e™X(cosy +isiny) =e X eV =e7?
e~ ? is also entire function

(D) Imaginary (z2) = 2xy = u + iv

du av du 0v

i 2y a_y = 0,& * 6_y Hence not analytic
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[Ans: B]
Conservation of linear momentum,
[12 X 2]+ [2 X (=5)] =[12 + 2] x V¢
24 —-10
Vi=—;

=1m/s

[Ans.*|Range: 126 to 129
For brittle materials maximum principle stress theory is valid
Syt = (OF]

-%[M+¢m1
100x106>—[M+\/M2+T2]

=20 % 10° x 10~3Nm
T=477x% 106 X 10—3Nm

6 2 2
100 x 108 > X 10 (d3) [20+w/20 +4.777|
16 x 103

dB>———[20 202 4+ 4.772
_nx100x106[ + +

d=>127.3 mm

[Ans. A]
Longitudinal riveted joint takes circumferencial stress
Hence

()

2t
=7 = (o)
100 x 2 x 0.020 x 0.75
B 2
P =1.5MPa

[Ans. *]Range: 257.88 to 257.88
From the bet equation,

4000
For raising, ‘m’ — = e*® i

or raising, —_— Q)
For lowering ‘m 6—50 =eM®_ (i)

From equation (i) & (ii)
(mg)? = 4000 x 1600

_ V4000 x 1600
M="""981
m = 257.88 kg
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10. [Ans.D]

For forced damping vibrations mX + cx + kx = Fo sin(wt)

Solution is x = xsin (wt — ¢)

X = xwy, cos(wt — ¢)

s

X = Xwy, sin <E + (ot — ¢)>

% = —xw? sin(wt — ¢)
T
mxw? sin(m + (ot — ¢)) + C X o, sin <§ + (ot — q))) + kx sin (wt — ¢)
+ Fosin(m+wt) =0
CXWp,

kx
(wt—¢)

mxw2

Fo
Phase Diagram

11. [Ans.*]Range: 118 to 120
Area of cross section = 2.356 X 10* mm?
P 100 x 103

= _424MP
%t = A T 2356 x 104 a
m [DE — Di4]

Sectional modulus of shaft = 3 D
= 73.63 x 10* mm*
m [D¢ — D;*]

Torsional modulus = —
orsional modulus = ——= D,

= 147.26 X 10* mm*
M
Op = (—) = 13.58 MPa
zZ

Shear stress due to torsion =109.4 MPa

o + oy, ot + op)\ 2
Gmax:( 2 )+j( 2 >+T2

= 118.7 MPa

12. [Ans.C]

@: 080-617 66 222, D<info@thegateacademy.com ©Copyright reserved. Web:www.thegateacademy.com



THE GATE

Test ID: ME-TS-04-18 ME
13. [Ans.(C]
=2 ey -nl=2y-1
2 L ey- vl =2
d 0
dy = a—'i’ dx + a—;':d

= dy = —vdx + udy

= dy = —2xdx + (2y — 1)dy
S x?  2xy?
sy =-2x ? + 5
Y=—x?+y’—y+c
At point P (4, 5)

b=—(®2+ (575

= 4 units

—-y+c

14. [Ans.B]
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15. [Ans.*]Range: 0.033 to 0.0368
Method 1
Q
ez~ 1 mm

Water at
50°C

ez 1 mm
@ 1
Q= Q1 + Qz
(50 — 20) (50 — 20)
B 0001 T KA 0.001

=2KA><0.001=2><200><A><0.001--~-

- ()
For water
dT

dT
= 1000X(AXh)X4200XE

1000 x A x 2« 420047 (if)
= X A X —X —_— e
100 dt i

Equating equation (i) and (ii)

1000 x A 10 4200 ar 400 x A
XAX—X —_— = X AX
100 dt 0.001

~dT _ 400x300 12 285714 °C/S
T dt 42000 x 0.001 42 x0.001x 110 /

Time taken for the temperature to fall by 28.5714°C is 1 sec so, time taken for the
1

temperature to fall by 1°C is sec = 0.035 sec

28.5714

Method 2

Rate of heat loss by conduction is equal to - ve rate of change of internal energy.
(T - oo) dT

5> 2XkKA—F=—

L Ca

L— Thickness of piston

A — Area of piston

k = Thermal conductivity of piston material

T, = Temperature of surrounding fluid

m — Mass of water inside the champer

C — Specific heat of water

T — Temperature of water at time instant
dT —2kA

= =

T-T, pVc

-1 (T—Too)_—ZkAt
"1, =T, ~ pvd

dt
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_2ka,
= (T=T) = (T, - T) e et
(= —pvcll (T—Too>
= ke M\, -1,
Aim: To find t,if T = 49°C where T, = 50°C
. _ =100 x 10 x 107 x 0.1 x 4200 x 0.001 _ (49 — 20)
- 2 % 200 X 10 x 102 —*"M50-20
= t = 0.03559 sec

16. [Ans.A]
Wein'’s displacement Law
AnT=C

T «

}\max
E — }\maxz
TZ }\maxl
T, 10000
5> == —
T, 20000
T, 1
> —=—
T, 2
Also, me know
E=0T*

E, (Tl)4
=>—=(—=
E, \T;
=>E, =E; X (TZ)
2 1 Tl
= 16 x (2)*
=256]/m?s

4

@: 080-617 66 222, D<info@thegateacademy.com ©Copyright reserved. Web:www.thegateacademy.com



THE GATE

Test ID: ME-TS-04-18

17.

18.

19.

20.

21.

22.

[Ans. C]
B C D

A 3 4 2 1
B 4 1 3 2
© 3 4 1 2
M) 4 1 2 3
[Ans. ¥*]Range: 45 to 47
(COP) _( 271 )

max = \313 — 271

1

(COP)actual = E (COP)max = m
(COP) = ( 271 )_ 30

actual = 99\313 - 271/ ~ WD

WD = 46.50 Watt

[Ans. D]
Thermal efficiency of gas turbine with ideal regeneration is

Tm ax

[Ans. B]
a b C d e

0f=4; 05=16;05=4;0;=1
Standard deviation

=\/0§+0§+0§+0i

=v4+16+4+1
=5

[Ans. *] Range: 30 to 30

L = 200 mm /@

o 100
Sin —200

0 = si !
= sing

0 = 30°

[Ans. C]
TIG and PAW uses non consumable electrodes
SMAW uses consumable electrode which is like a stick
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SAW uses consumable electrode in wire form
23. [Ans.*]Range: 0.125 to 0.128

= (5z)

P

€long = (ﬁ)
W= —
€long

D¢ — Dj L
= —03= ( )( )
D; Le— L

(52 ()05

= D¢ = 9.99 mm

4p
Hence true stress = = 0.1275 MPa
T[sz

24. [Ans.*] Range: 1.4 to 1.6
_ 1000V
 md

Where,
V - Cutting speed in m/min
d - Diameter in mm
fn = 0.4 X 238.732 = 95.492 mm/min
Where f,, is feed in mm/min
length of cut

Machining time = ————— = 1.57min
fm

= 238.732 rpm

25. [Ans.C]
In USM tip of the tool (sonotrode) vibrates at frequency of 20 kHz, this variation imports a
high velocity to abrasive grains between the tool and work piece and thus material is
removed from surface by micro chipping and erosion with fine abrasive grains in a slurry

26. [Ans.B]
Taking logarithm of both side of x¥ = y*, we obtain
ylnx = xIny
Differentiating both sides of this equation w.r.t x,

"Inx +2 = ’1+1
y Inx X—ny ny

X
y' (lnx——) =Iny _Y
y X

lny—g

!

_lnx—z

y
’ _In4-4/2 2In2-2
Y=o =11 -2/4~ 1,51
2
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27. [Ans.B]

1 /W
75/& f e_St sin wt dt

Using (1 —e™2™/®) = (1 + e‘”s/"))(l - e‘“s/‘*’) and integrating by parts or nothing that
the integral is the imaginary part of the integral given below,

/W . 1 ) /W
f e(—s+iw) gt = : e(—s+1oo)t
0 (—s+iw) o
—s—iw
— T (_e ST/ W 1)
—Ss—iw w
I : _aA-ST/ @ _ 1 — — (p—ST/® +1
maginary (o (-e70 = 1)) = o = (e 4 1)
1 w 1 w

(1 + e—srr/co)(l _ e—ﬂs/co) 2 + (.02) - 1— e—ns/m ) SZ + mz

28. [Ans. *] Range: 0.66 to 0.66
Let U —» Unbiased coin; B Biased coin
2 1
P(U) == P(B) ==
() =3 PB) =3

Let A - Appear head both the times
P(A/U) - Getting head on both times when coin is unbiased.

1
A/ V= ZxZ _ -
P( /U) >< (P(Head) 2)
P(A/B) - Gettlng head on both times when coin is biased.
1
P(A/p) =1x > (P(Head) =1)

According Bayes theorem
P(A) =P(AnU)+P(ANB)

— P(U)P (A) + P(B)P (A)
- U B
1 1+1 )
— X X
~37473
1(1+1)_1 3 1
2 37272

B
(K) = Selected coin is biased coin when two time head already happen
(B) _P(AnB) P(B)P(A/B)
A/ P(A)  P(A)
_ 1/3 x 1 _2
1/2 3
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29. [Ans.B]
We know that

(o]

mmm=j"a@M@w

1
:E[ex]:f eX-1dx=el —¢e
0
=e—1

30. [Ans.*]Range: 2.0t 02.5
T = 80 Nm, time = 5 sec.

Initial speed = 100 rpm, find speed = 0

[w?
Heat generated = -

I(wf — wy) _ (Iw>

Torque = la =

t t
80:1)(211)(100:”:@k]m2
60 X5 s
Heat generated = 1 X 120 X (21T X 100)2
2 i 60

= 2094]

= 20.6 K]

~2.1K]

31. [Ans.*]Range: 75to 75
As there is no external moment applied, we can use principle of conversation of angular
momentum. i.e,
Initial angular momentum= Final angular momentum
(mr?) X wy + (mr?) X wg = m. (2r)? - w + m(2r?) x w
2mr? - wy = 2.m4r? - w
Q)
W= TO (where w is the final angular velocity of system)
vi=(2r) w
vi = (D

%Loss in kinetic energy
_ Initial KE — Final KE

Initial kKE
2
1-2xmlc2r) (L
[rzmimpen ],
2 x 2 m[()(wo)]?

=75%

x 100
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32.

33.

[Ans. B]

There are two bending moment equation hence we can’t use double integration technique.

Area moment method is not applicable here

[Ans. D]
M,
|
T A
R1 RZ
|&——L >
R1 + R2 =0

M, M
M0+R2(L)=O:R2=—_andR1=T

L

0
v

|
T M, M,
- L
) . Myx
Bending moment equation = ( )
N d?y  Myx
Waxz T LEI
dy Myx?2
ax  2EILL @
_ Mox® +ox+
Y= GEIL T T
Atx=0,y=0>c¢, =0
Mo Ly M2 —M,L
= = = = =
X=y “I T GEIL ~ 6EI
Theref _ Mx® M,lx
Crelorey = CEIL ~ 6EI
(dy) 3Myx? M,L M,x? M,L
— ) = — = = = —
dx) = 6EIL _ 6EI 2EIL _ 6EI
L
Sx=—
V3

o
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34. [Ans.*]Range 0.12 to 0.15

T
Area of cross section = 7 [d3 — di?]
T
=—[3002 — 502
i )

= 68723 mm?
Load P = 68723 N
. (PL
elongation = (E)
68723 x 0.8 X 4
" 1% (0.05)2 x 205 x 103 x 10°
= 0.137 mm

35. [Ans.*] Range: 2.2 to 2.4
It is equivalent to a simply supported beam with UDL with intensity of load as weight per

length.
w pALg
o ()= (429 o
7 7 (pAg)
Deflection = (23L"
eriection = 384 EI
_ 5 x pAgl?
~ 384EIl
_ 5x7600x25x107*x9.81 x (1)*
a 384 x 200 X 109 x I
5% 53
— -12 4
I = v x 10 mm

Deflection=2.33 mm

36. [Ans.*] Range: 0.025 to 0.04

w2 (142 Iz3) = w3133 I33)
(2)(10) = w3(50)

20 2
w3 = (—) rad/s

Sliding velocity of the follower with respect to disc
= R(w; — w3)
2
=(0.02)(2—=
©002)(2~5)
= 0.032m/s
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37. [Ans.*] Range: 26 to 27
mg
(D) mass = (A3) + K
Equilibrium Equation
(mg)(15) = (kA1)5 + (kA7) (10)
Ay 4y
(? = E) ) (A = 24y)
3mg = (kA;) + 4k,
A = 3mg
17 5k
A A
5 15
A3 = 3A1
_ 9mg
- 5k
9mg mg
Amass = Fi ¥
mg

Amass = 14 ﬁ

A

Wy = Z

B 5k B 5x 103 x 20
“n= Tam | 14x10

w, = 26.72rad/s

38. [Ans. *]Range: 282500 to 283000
tx®
12 6

Here] = 2 x

1
T © TXx3 <3T)
—_— - = | —
J roxEoB
6

Maximum shear stress occurs at throat

= 3T _gomp
Tmax = 570703 a
= T = 282.8 X 103 Nm

— 282800 Nm
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39.

40.

[Ans. *]Range: 9.00 to 9.800

L - - - A=A =B === - - -

Pp, = Pg (They are on the same horizontal line in the same fluid)

Pg = Py + pw ghw
= Pg — Po + pw ghw

[Pabs — Pam = l:)gage]

20
= Pgage, air — PA - PO = PB - PO = 1000 X 9.81 x m
= 1962 Pa

Po — Pmanometergh = Po

= Pp — Po = Pmanometer 8h
= 1962 = [1000x 2.1] Xx9.81 x h

Pmanometr
S.G=———
Pwater

1962

= m = 0.0950 =9.50 cm

[Ans. *]Range: 91.000 to 95.000
NN

G+—————he 8 cm

p1 25m P2 I

B

For laminar flow between two parallel plates
8 UVppaxl

Pl - PZ == %

1 =25m

b=8cm=ﬁm

u=2Pas
_12><2><1.5><25

B—P= (0.08)2
~ P, — P, = 93.750 kPa

= 93750 Pa
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41. [Ans.*]Range: 0.6 to 0.9
By hydrostatic law (for B)
Pp + Pair § X 2 = ppg hp

PA + Zg Pair

= hB = gpgasoline

_ 1.5%x10% +2x9.81 x 1.2
- 9.81 X 667

= 0.2328 m
@

Air

N

=
ul

»le— B —pie— 5 —>pi

Gasoline hg

“— =—)

_
3

Glycerin he

N o

Similarly for C
PA'*'pairgxgxZ‘I'F)gzlsolingxg>< 1.5 =pcxgxh
_ Py +1.2%X981%x24+667%x9.81x%X15

= he 1236 x 9.81
_ 1500423544+ 98149 _
1236 x 9.81
H=(1+15+hg)—(1+h)
=0.7978 m
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42. [Ans.*]Range: 298 to 302

4 T,— T,
=71 1 o 1
hjA; + 2mkL In rj + hy Ao
1
U=1—— — (Inner overall heat transfer coefficient)
—+-ln=-+—x—
hi k T ho To
1
U, = U T (outer overall heat transfer coefficient)

oy To
X — o) o) -
rj hi+klnri+h0

D; 25
ri=?=7=12.5mm

D 30
rO=7=7=15mm

So, the tube is thin walled i.e., the resistance to conduction can be neglected.

1
V=i = &
h; ho I'o
U 1
=Ui=1—7q
b T hg2rg
U 1
U= 7 D;
B he < Do
= 360 = —
N RIS
Do lh; © D; ' hg
=360 = 5—
Do~ U
D, 1 1
=5 —X—=—
D, U, 360
U, =2 360
=—X
o Do

—25X360—300 2oC
=30 = w/m

U, =

= U,

U
=

U.| S

—

X

2

oo
+ o
X
o:rl =
I
e
o
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43. [Ans.*]Range: 0.8 to 0.9

0.1kW

Tank % Insulated

—¥ Tank
'ﬁ Valve

Energy balance equation for the control volume
dE.,, dw dm

=— —h,—
dT dt Pdt
h, — Exist enthalpy of sir

Since, there is no change in internal energy of air in the tank.

dm _ dw

Pdt  dt
Where,

h, =u+Pp,

u=0att=0k=-273C

u=u,+ 0.718t

0 =u, + 0.718(-273)

u, = 0.718(273)kJ /kg

u = 0.718(273 + t) k] /kg

h, = 0.718(273 +t) + 0.287(t + 273)

h, = 1.005(t + 273)

At150°C = h,, = 425Kk]/kg

dm 1dw (0.1)K]/s

dt  h, dt  425Kkj/kg
=0.236 X 1073kg/s

m = 0.845 kg/h

44, [Ans.*]Range: 10 to 11
P V' = P,V" = P,V
_ In(P,/P,) In(100/37.9)
", v) T In(02/01)
_ In(P,/P;) In(37.9/144)
" nvs/vy) T In(04/02)
Here expansion process PV" = Constant and n = 1.4 and for closed system the polytropic

work is
_ PV =RV,
n n—1
=10.6 k]
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45. [Ans. A]

Heat to be radiated = Q,

Q, x AT}
Q) = oATS
Since the engine is reversible
QU _Q QT
ToT, 8T
1 2 2
Q.Ty
WD=0Q;—-Q;= T -Q
2
T -T
WD = Q, (<)
Q% (=5
_ (WD)T,
PN -T
WD)T: WD)T.
s WD (WD)T,

= = [ —
27T, -T, oTH(T; — T)

WD 1
A=— 3 _ T4
o |T,T3 — T

For minimum area:

dA
—— =0 [For given WD and Ty ]
dT,
=>T2—3:T —<3>T
T, 4 2T \4/)
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46. [Ans.*] Range: 1.5to0 1.7

A

35°C

S, =S, [Process 1-2: Reversible adiabatic process]
at—10°C = 1.762 k] /kg.K

Tsup2
Sg1 = Sg2 + cpvln(T“ )
sat2

(Cp)y = 1.061 KJ/kg/K

h, = hgz + (CP)V(TsupZ - Tsatz) = 550.4 K] /kg
h; = hf2 = 133KkJ/kg

h; = hy — Cpv (45 — 35) = 116.8 k] /kg

N
Actual volume flow rate of refrigerant, V.= A X I X 20 XN, = 0.2316 m3/min

Mass fl t(')—v—0'2316—0994k i
ass flow rate (rh _Vg1_ 0233 ~ 0 g/min
g (h; — h:
Capacity of the plant = M = 1.62 TR
210
47. [Ans.B]
48. [Ans.C]

When jet interacts with the air around as it flares out. Initially it remains straight up to
certain value (Say 5 mm) after then it flares thus reducing depth of penetration.

49. [Ans.B]
Statement 2 is wrong:
Eutectic alloys constitute an exception to the general process by which alloys solidify. A
eutectic alloy is a particular composition in an alloy system for which solidus and liquids
are at the same temperature, Hence solidification occurs at constant temperature.
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50.

51.

52.

[Ans. D]

In point to point operations like drilling cutter diameter compensation does not come into

the picture.

Drilling can be done on CNC machine with contouring or continuous control system

because such also carry point to point operations.
-~ Cutter diameter compensation not required is correct.

[Ans. ¥] Range: 34 to 35

As per Taylor’s tool life equation
VT" =C

V,T{ =C

V, T} =C

V; = 30m/min, T; = 60 min

V, = 60 m/min, T, = 2min

VT =V, T}

Taking log on both sides

logV; + nlogT; = logV, + nlog T,

~ C=VT" = (30)(60)%2%% = 68.878
now for

T = 30 min, V =?

V(30)%2%3 = 68.878

V = 34.532 m/min

[Ans. *|Range: 3.0 to 3.4
Al
MRR = pZ_F inCC/s
But in question it is asked in g/s
Al
-~ MRR = ZF In g/s
_ 63 x5000

= 900 x 1 >2048/s
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53.

54,

55.

[Ans. C]
Hole basic size =30 mm
LL of H hole = basic size=30 mm

D =+v18 X 30 = 23.24 mm

i =0.453/23.24 + 0.001 X 23.24 = 1.3074 microns
Tolerance 1T7=16i=20.918 microns=21 microns=0.021 mm

30.021 V7] looo21

NOGO

30.00 GO

UL of NOGO plug gauge =30.021+0.0021=30.0231 mm
LL of NOGO plug gauge =30.021 mm

Gauge tolerance =10% of work tolerance =0.0021

[Ans. A]

Given data

D=15000

C, =%6.50

C.=025p

The EOQ values are calculated

2DC, \/2 X 15000 x 6.50

EO = = = 558.57
Qzs0) Ce 0.25 X 2.50
EO _ 2DC, _ 2 x 15000 x 6.50 _ 582,35 (lies i
Q30) = < - 0ZEx230 - .35 (lies in range)
2DC, 2 x 15000 x 6.50 o
EOQz.00) = C. = 025 X 2 = 624.50 (lies in range)

For 624.50 wires, unit price is less. Hence it is an optional quantity

[Ans. A]

The paths and duration are given below
a-»c—oe—>g=3+5+7+2=17days
a->c->f->h=3+5+5+4+10 = 23days
b->d—->e—»>g=4+5+7+2=18days
b->d—->f->h=4+5+5+10 = 24 days
Hence, critical pathisb—->d - f—-h
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